	Block #
	Total Block Area:

	
	
	

	Impervious Surface 
	area in square meter

(rounded to nearest 1 sq. m)
	% of total block area

(recorded to 1 decimal place)

	Buildings
	12,215 m2
	27.4%

	Pavement - pedestrian
	2,797 m2
	6.3%

	Pavement - vehicles
	29,583 m2
	66.3%

	Total Impervious Surface
	44,595 m2
	100%

	
	
	

	Pervious Service
	area in square meter

(rounded to nearest 1 sq. m.)
	% of total block area

(recorded to 1 decimal place)

	Gravel
	118.43 m2
	.4%

	Grass
	27,160 m2
	98.3%

	Shrubs
	362 m2
	1.3%

	Total Pervious Surface
	27,640 m2
	100%

	
	
	

	Number of Large Trees:
	 approx. 121 large trees


Example on how to find z-score of each surface:

	Category 1: Impervious Surface Area of Buildings

	Block #
	%
	Block #
	%
	Block #
	%
	Block #
	%

	1
	48
	6
	26
	11
	43
	16
	65

	2
	12
	7
	42
	12
	75
	17
	73

	3
	67
	8
	66
	13
	36
	18
	86

	4
	34
	9
	38
	14
	11
	19
	90

	5
	83
	10
	92
	15
	17
	20
	39


Mean 52.15     standard deviation 26.2 

Example z-score for block #1: z1 = (52.15-48)/26.2 = 1.6

· Within each block number, we would multiply the z-score found for that block by the weighted values we assigned to each category, which would give us the Runoff Index (RI) for that block's surface.

· Example: 1.6 x .006 =.0096, RI for block #1

· We would repeat these steps for each category (1-7) finding the RI for each block's surface.

· Next, we would add up all the block's total RI for each category to find the total runoff index for that area. This will allow us to find where on campus has the highest runoff problems.

· RI B#1 Buildings + RI B#1 Pedestrian + RI B#1 Vehicle + RI B#1 Gravel +RI B#1 Grass + RI B#1 Shrubs + RI #1 Trees = Total Runoff Index for Block #1

